NAME:

MATH 230 MIDTERM #3
November 25, 2013

INSTRUCTIONS: This is a closed book, closed notes exam. You are not to
provide or receive help from any outside source during the exam.

e You may NOT use a calculator.

e Show all of your work.

Question | Points | Score
1 20
2 15
3 10
4 20
5 20
6 10
7 15
Total: 110
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1. 'True or False (Cardinality Edition, if you get it wrong you lose 1
point, so be extra careful):

() [2 points] Two sets have the same cardinality if there exists a bijec-
TRUE tion from one of them to the other.

(b} [2 points] The cardinality of N is the same as the cardinality of R.

FaLSE Poved in clans thd  Hhoy lye Aeppered eodinsiy

(c) [2 points] The cardinality of 2% is the same as the cardinality of R.

T RUE Proved i o,
(d) {2 points] The cardmahty of (0,1) is the same as the cardinality of
T RUE [0, 1]. cTo i\ <. 1o, ) ]ia i)

593“‘/? so [ roilep] bl D)=

. (e) [2 points] f(z) = 2z — 1 is a bijection from (O 1) to (0,2). S}O\jﬁ,\}\‘-!!ﬂ
FaLst W}«w fFro— (0,0 to (-, = Lten|

(f) [2 points] If f: A — Bis onto and g : B — C is onto, then g o f is
TRUE onto. .

(g) [2 points] Suppose |A| > |B|, then there is no one-to-one function

. !’\ ~
False f:B—A (M vold be tre il ibsad 1 A=RY)
(h) [2 points] Cantor’s theorem states that there is no onto function

TYZULE f:A— 24 B‘ﬁ thﬁv\

(i) [2 points] Suppose f : A — B is one-to-one and g : B — A is

e -

rALSE one-to-one. Then 1s onto. C;\U"?L(L A= Z R B et
M T e Lra2m arn he £(x)=2x botd ce
4: B DA oam be 5(x)=0x, ore -to-ome
(i) [2 points] f(z) = tanx is a bijection from (—1,1) to R. Ne o
F ALST . 15 gy

JAs o« W from (~%,;5£Haf/?
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2. Determine if the following sets are functions and explain why or why
not:

(a) [5 points] f = {(z,y) |z +y =0}

(b) [5 points] f = {(z,y) |y = 0}.
No,
ju{\' =) ~{j)\a,,\ JCJU'Y(’, Gve. jhf}\}n)lL@Ij 'j%,
f/\wF W‘j )(j O. W%Lj
U\/@?&g oﬁ/f Y E W thea J[ W—-@?ZOS ;safwv&&ﬁ

go\ﬁ&f%w{%o MMMW

JcLe w@ M OQE@«/LW«) WM /)2
(c) [5 points] f = {(z,y) |z divides y}.

Not o fundlion

1
K

;/)Z omﬁ o e S f{: X = {'1\5""6 it

nmja%@?j
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3. Let f be a function. f~! is usually reserved to symbolize the inverse
of a function, let’s extend this definition in the following way: Suppose
f:+A— Bisafunction and Y is a subset of B. Then we define f~(Y)
to be the set of all elements in A that are mapped to a value in Y. That
is,

fFfYy={zcA: flz) e Y}
For example, suppose f : Z — Z with f defined as f(x) = z?. Then
f1{1,2,3,4}) = {1,-1,2,-2}. (Note that v2, —v/2, v/3 and —/3 are
not integers which is why those numbers don’t appear in f~({1,2,3,4}).)
(a) [5 points] Let f : Z — Z be f(z) = 2| (absolute value). If YV =
{1,2,3}, what is f1(Y).

*P“ ( @,2,33)%5 { |, -1, 7, -2, 3, ’3j j

(b) [5 points] Let f : R — Rbe f(z) =22 IfY = [1,2], what is f~}(Y).

Uy -’%\\ I, j;j U zhﬁjj )]
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4. Let f : Z — Z be defined by f(z) = 2° and
let g : R — R be defined by g(z) = z°.

(a) (5 points] Prove or disprove: f is one-to-one.
: ' 3 :
Suﬁ,m/c Q{*):ﬁéj) £o X= jg
T hen Xy =0

Ef‘l:}/‘%’ Xl‘j’ o~

XZ+X3+31?O fwﬁ g X,j g/}z‘\fof
beawre X N Sigen x>0, xy>0, 4750 5,
i ) - ) 7 ,j ’-*j}j%

ad i ek bt ogpen sign Y, ey 22 xg)

So PR A VA RN o 2 2
(b) [5 points] Prove or disprove: f is onto. 73 * X “)"Lj]*j >0
T 4 X or q=o

¥ ) S ﬂ«j @j@ W yhea %',MB
“H/\’br@ IS ng Xf‘S-'E JE{X):J- O =Y s© 310_

& X%“:W.O O X =W

doded  {l)=0, 4001, {(2)-8 oihe ey ry,
el g 'S EW% SO g;wwui:ﬁ%ﬁgio
. / i X Gty (1
{ %k%f"s 1o whee 9. e nof 1
b st o | .
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(c) [5 points] Prove or disprove: g is one-to-one.

gm. M a4 Hﬁ &re. //f?f**
(B).

9 s one—Fo-one |

(d) [5 points] Prove or disprove: ¢ is onto.

ﬁ('x)::[x?' )Le@ araj/h

o fais ek
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5 Let A={1,2,3,...,10} and B = {1,2,3}.

(a) [5 points] How many functions f : A — B are there?

(b) [5 points] How many functions f : A — B satisfy that f(1) = 1
f(2) =2 and f(3) = 37

3

T

",';.
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(¢} [5 points] How many functions f : A — B are one-to-one?

(d) [5 points] How many functions f : A — B are onto? (BONUS)
e N /w R
[ 7 o5 59 %cﬂ
ﬂ 3\0'-* ()3)(1 ) + 3‘\44. “ ) /55 .

\
14 ‘\\i
f g(o _ 57 @ s o ﬂmgfffmé/tw )
\ W O@J@ with J

Yhese chger 1 Aot



Math 230 Midterm #3 Page 9 of 11

6. Pigeonhole
(a) [5 points] Prove that if you select 1007 numbers from the set

{1,2,3,..., 2013}, at least two of the numbers will be consecutive.
71, Tarse.

3,4 .
{ c ?/3/5/?/“'/ ?OB e {OO?

foou, 2012 W
i‘ZO@Z) .

(b} [5 points] 10000 fans went to see a soccer game. Prove that there
are at least 28 people with the same birthday.

Tl e 366 porndh furllly
m(@% Siny 100@0‘75%(2;)

S N | .‘ i
(‘Q}%; H\%% +he /Mjww/wé
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7. Diagonals of polygons

(a) [5 points] How many diagonals does a regular pentagon have? (Note:
A line segment of a polygon is considered a diagonal if it is the
line segment between two vertices of the polygon but not a side of
the polygon. For example, a triangle has no diagonals because the
line segments connecting two vertices of the triangle are the sides
of the triangle, while the square has two diagonals because the line
segments connecting two opposite corners of a square are not sides
of the square.)

(b) [5 points] How many diagonals does a regular heptagon have? (Note:
An heptagon has 7 sides)




Math 230 Midterm #3 Page 11 of 11

(c) [5 points] How many diagonals does a regular n-gon have? (Explain
why it has the number you claim).




